### Research Article

## **General Solutions of Two Quadratic Functional Equations of Pexider Type on Orthogonal Vectors**

#### **Margherita Fochi**

Dipartimento di Matematica, Università di Torino, Via Carlo Alberto 10, 10123 Torino, Italy

Correspondence should be addressed to Margherita Fochi, margherita.fochi@unito.it

Received 5 May 2012; Accepted 15 July 2012

Academic Editor: Janusz Brzdek

Copyright © 2012 Margherita Fochi. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Based on the studies on the Hyers-Ulam stability and the orthogonal stability of some Pexiderquadratic functional equations, in this paper we find the general solutions of two quadratic functional equations of Pexider type. Both equations are studied in restricted domains: the first equation is studied on the restricted domain of the orthogonal vectors in the sense of Rätz, and the second equation is considered on the orthogonal vectors in the inner product spaces with the usual orthogonality.

#### **1. Introduction**

Stability problems for some functional equations have been extensively investigated by several authors, and in particular one of the most important functional equation studied in this topic is the quadratic functional equation,

$$f(x+y) + f(x-y) = 2f(x) + 2f(y)$$
(1.1)

(Skof [1], Cholewa [2], Czerwik [3], Rassias [4], among others).

Recently, many articles have been devoted to the study of the stability or orthogonal stability of quadratic functional equations of Pexider type on the restricted domain of orthogonal vectors in the sense of Rätz.

We remind the definition of orthogonality space (see [5]). The pair  $(X, \bot)$  is called orthogonality space in the sense of Rätz if X is a real vector space with dim  $X \ge 2$  and  $\bot$  is a binary relation on X with the following properties:

(i)  $x \perp 0, 0 \perp x$  for all  $x \in X$ ,

(ii) if  $x, y \in X - \{0\}$ ,  $x \perp y$ , then the vectors are linearly independent,

- (iii) if  $x, y \in X$ ,  $x \perp y$ , then  $\alpha x \perp \beta y$  for all  $\alpha, \beta \in R$ ,
- (iv) let *P* be a 2-dimensional subspace of *X*. If  $x \in P$  then there exists  $y_0 \in P$  such that  $x \perp y_0$  and  $x + y_0 \perp \lambda x y_0$ .

The relation  $\perp$  is called symmetric if  $x \perp y$  implies that  $y \perp x$ .

An example of orthogonality in the sense of Rätz is the ordinary orthogonality on an inner product space  $(H, (\cdot, \cdot))$  given by  $\perp y \Leftrightarrow (x, y) = 0$ .

In the class of real functionals f, g, h defined on an orthogonality space in the sense of Rätz,  $f, g, h : (X, \bot) \rightarrow R$ , a first version of the quadratic equation of Pexider type is

$$f(x+y) + f(x-y) = 2g(x) + 2h(y)$$
(1.2)

and its relative conditional form is

$$x \perp y \Longrightarrow f(x+y) + f(x-y) = 2g(x) + 2h(y). \tag{1.3}$$

Although the Hyers-Ulam stability of the conditional quadratic functional equation (1.3) has been studied by Moslehian [6], we do not know the characterization of the solutions of the conditional equation (1.3).

In the same class of functions,  $f, g, h, k : (X, \bot) \rightarrow R$ , another version of the quadratic functional equation of Pexider type is

$$f(x+y) + g(x-y) = h(x) + k(y),$$
(1.4)

and its relative conditional form is

$$x \perp y \Longrightarrow f(x+y) + g(x-y) = h(x) + k(y). \tag{1.5}$$

Equation (1.4) has been solved by Ebanks et al. [7]; its stability has been studied, among others, by Jung and Sahoo [8] and Yang [9] and its orthogonal stability has been studied by Mirzavaziri and Moslehian [10], but also in this case we do not know the general solutions of (1.5).

Based on those studies, we intend to consider the above-mentioned functional equations (1.3) and (1.5) on the restricted domain of orthogonal vectors in order to present the characterization of their general solutions.

Throughout the paper, the orthogonality  $\perp$  in the sense of Rätz is assumed to be symmetric.

#### **2. The Conditional Equation** $x \perp y \Rightarrow f(x + y) + f(x - y) = 2g(x) + 2h(y)$ in Orthogonality Spaces in the Sense of Ratz

In the class of real functionals f, g, h defined on an orthogonality space in the sense of Rätz,  $f, g, h : (X, \bot) \rightarrow R$ , let us consider the conditional equation (1.3).

Abstract and Applied Analysis

We describe its solutions first assuming that f is an odd functional, then an even functional, finally, using the decomposition of the functionals f, g, h into their even and odd parts, we describe the general solutions.

**Theorem 2.1.** Let  $f, g, h: (X, \bot) \to R$  be real functionals satisfying (1.3). *If* f *is an odd functional, then the solutions of* (1.3) *are given by* 

$$f(x) = A(x),$$
  
 $g(x) = A(x) + g(0),$  (2.1)  
 $h(x) = h(0),$ 

where  $A : (X, \bot) \to R$  is an additive function, that is, A is solution of A(x + y) = A(x) + A(y) for all  $(x, y) \in X^2$ .

If f is an even functional, then the solutions of (1.3) are given by

$$f(x) = Q(x) + f(0),$$
  

$$g(x) = Q(x) + g(0),$$
  

$$h(x) = Q(x) + h(0),$$
  
(2.2)

where  $Q: (X, \bot) \to R$  is an orthogonally quadratic function, that is, solution of Q(x+y)+Q(x-y) = 2Q(x) + 2Q(y) for  $x \bot y$ .

*Proof.* Let us first consider f an odd functional. Letting x = 0 and y = 0 in (1.3), by f(0) = 0 for the oddness of f, we obtain

$$g(0) + h(0) = 0. (2.3)$$

Now, putting (x, 0) in place of (x, y) in (1.3), we have f(x) = g(x) + h(0), then putting again (0, x) in place of (x, y) we get g(0) + h(x) = 0 for all  $x \in X$ , since f is odd. The first equation gives

$$g(x) = f(x) + g(0)$$
(2.4)

from (2.3), and the last equation proves that

$$h(x) = h(0) \tag{2.5}$$

using (2.3) again.

From the above results, (1.3) may be rewritten in the following way: f(x+y)+f(x-y) = 2f(x) for all  $x \perp y$ . Hence by Lemma 3.1, [6], we have f(x) - f(0) = A(x) where  $A : X \rightarrow R$  is an orthogonally additive functional. But since f(0) = 0 and from [5, Theorem 5], we deduce that A is everywhere additive.

Consider now f an even functional. Substituting in (1.3) (0,0) in place of (x, y), we obtain

$$g(0) + h(0) = f(0).$$
(2.6)

Now writing (1.3) with (x, y) replaced, respectively, first by (x, 0), then by (0, y), we get

$$f(x) = g(x) + h(0), \tag{2.7}$$

$$f(y) = g(0) + h(y), (2.8)$$

for all  $x, y \in X$ , since f is even. From (1.3), using (2.7), (2.8), and (2.6), we obtain

$$f(x+y) + f(x-y) = 2f(x) + 2f(y) - 2f(0).$$
(2.9)

Hence, setting Q(t) = f(t) - f(0), we infer Q(x+y) + Q(x-y) = 2Q(x) + 2Q(y) for  $x \perp y$ , that is, Q is an orthogonally quadratic functional. So, f(x) = Q(x) + f(0), and from (2.7), using (2.6), g(x) = Q(x) + f(0) - h(0) = Q(x) + g(0), and from (2.8), h(x) = Q(x) + f(0) - g(0) = Q(x) + h(0). The theorem is so proved.

**Lemma 2.2.** Let  $f, g, h : (X, \bot) \to R$  be real functionals satisfying (1.3). Then both the even parts and the odd parts of f, g, h, namely,  $f_e, g_e, h_e$  and  $f_o, g_o, h_o$ , satisfy (1.3).

*Proof.* Denoting by  $f_e$ ,  $g_e$ ,  $h_e$  and  $f_o$ ,  $g_o$ ,  $h_o$  the even and odd parts, respectively, of f, g, h, we have from (1.3)

$$f_e(x+y) + f_o(x+y) + f_e(x-y) + f_o(x-y) = 2g_e(x) + 2g_o(x) + 2h_e(y) + 2h_o(y), \quad \text{for } x \perp y$$
(2.10)

From the homogeneity of the orthogonality relation (property (iii)), we have  $x \perp y \Rightarrow -x \perp -y$ , so that, by (1.3), choosing -x, -y, we get

$$f_e(x+y) - f_o(x+y) + f_e(x-y) - f_o(x-y) = 2g_e(x) - 2g_o(x) + 2h_e(y) - 2h_o(y), \quad \text{for } x \perp y$$
(2.11)

Adding and then subtracting (2.10) and (2.11), we easily prove the lemma.

From Lemma 2.2 and Theorem 2.1, we may easily prove the following theorem.  $\Box$ 

**Theorem 2.3.** The general solution  $f, g, h : (X, \bot) \to R$  of the functional equation (1.3) is given by

$$f(x) = A(x) + Q(x) + f(0),$$
  

$$g(x) = A(x) + Q(x) + g(0),$$
  

$$h(x) = Q(x) + h(0),$$
  
(2.12)

where  $A : (X, \bot) \to R$  is an additive function and  $Q : (X, \bot) \to R$  is an orthogonally quadratic function.

In the case of an inner product space  $(H, (\cdot, \cdot))$  (dim H > 2) which is a particular orthogonality space in the sense of Rätz, with the ordinary orthogonality given by  $\perp y \Leftrightarrow (x, y) = 0$ , we have the characterization of the orthogonally quadratic mappings from [11, Theorem 2]. Hence we have the following corollary.

**Corollary 2.4.** Let *H* be an inner product space with dim H > 2 and  $f, g, h : (H, (\cdot, \cdot)) \rightarrow R$ . The general solution of the functional equation (1.3) is given by

$$f(x) = A(x) + Q(x) + f(0),$$
  

$$g(x) = A(x) + Q(x) + g(0),$$
  

$$h(x) = Q(x) + h(0),$$
  
(2.13)

where  $A: (H, (\cdot, \cdot)) \to R$  is an additive function and  $Q: (H, (\cdot, \cdot)) \to R$  is a quadratic function.

# **3. The Conditional Equation** $x \perp y \Rightarrow f(x + y) + g(x - y) = h(x) + k(y)$ in Inner Product Spaces

Consider now *H* an inner product space with dim H > 2 and the usual orthogonality given by  $\perp y \Leftrightarrow (x, y) = 0$ . In the class of real functionals *f*, *g*, *h*, *k* defined on *H*, we consider the conditional equation (1.5).

First prove the following lemma.

**Lemma 3.1.** Let  $f, g, h, k : H \rightarrow R$  be solutions of (1.5); then

$$h(x) = A(x) + Q(x) + h(0), \qquad (3.1)$$

where  $A: H \rightarrow R$  is an additive function and  $Q: H \rightarrow R$  is a quadratic function.

*Proof.* Replacing in (1.5) (x, y) by (0, 0), then by (x, 0) and finally by (0, y), we obtain

- (i) f(0) + g(0) = h(0) + k(0),
- (ii) f(x) + g(x) = h(x) + k(0),
- (iii) f(y) + g(-y) = h(0) + k(y).

Hence (1.5) may be rewritten as

$$f(x+y) + g(x-y) = f(x) + f(y) + g(x) + g(-y) - f(0) - g(0).$$
(3.2)

So that, setting F(t) = f(t) - f(0) and G(t) = g(t) - g(0), we infer

$$F(x+y) + G(x-y) = F(x) + F(y) + G(x) + G(-y).$$
(3.3)

Now, substituting -y in (3.3) in place of y, we have

$$F(x-y) + G(x+y) = F(x) + F(-y) + G(x) + G(y).$$
(3.4)

Adding (3.3) and (3.4), we get

$$F(x+y) + F(x-y) + G(x+y) + G(x-y) = 2F(x) + F(y) + F(-y) + 2G(x) + G(y) + G(-y).$$
(3.5)

So, defining the functional  $S : H \to R$  by

$$S(t) = F(t) + G(t),$$
 (3.6)

the above equation becomes

$$x \perp y \Longrightarrow S(x+y) + S(x-y) = 2S(x) + S(y) + S(-y).$$

$$(3.7)$$

From [11, Theorem 3], we have

$$S(x) = A(x) + Q(x),$$
 (3.8)

where  $A : H \to R$  is an additive function and  $Q : H \to R$  is a quadratic function. From (3.6), we have, F(x) + G(x) = A(x) + Q(x), that is, f(x) - f(0) + g(x) - g(0) = A(x) + Q(x). Using (ii) and (i), the left-hand side of the above equation may be written in the following way: h(x) + k(0) - f(0) - g(0) = h(x) + k(0) - h(0) - k(0) = h(x) - h(0); hence we get h(x) = A(x) + Q(x) + h(0). The theorem is so proved.

Our aim is now to characterize the general solutions of (1.5): this is obtained using the decomposition of the functionals f, g, h, k into their even and odd parts. Using the same approach of Lemma 2.2, we easily prove the following lemma.

**Lemma 3.2.** Let  $f, g, h, k : H \rightarrow R$  be real functionals satisfying (1.5).

Then both the even parts and the odd parts of f, g, h, k, namely,  $f_e$ ,  $g_e$ ,  $h_e$ ,  $k_e$  and  $f_o$ ,  $g_o$ ,  $h_o$ ,  $k_o$ , satisfy (1.5), that is,

$$x \perp y \Longrightarrow f_o(x+y) + g_o(x-y) = h_o(x) + k_o(y), \tag{3.9}$$

$$x \perp y \Longrightarrow f_e(x+y) + g_e(x-y) = h_e(x) + k_e(y). \tag{3.10}$$

Now consider (3.9): the characterization of its solutions is given by the following theorem.

Abstract and Applied Analysis

**Theorem 3.3.** Let  $f_o, g_o, h_o, k_o : H \to R$  be real odd functionals satisfying (3.9); then the solutions of (3.9) are given by

$$f_{o}(x) = \frac{A(x) + B(x)}{2},$$

$$g_{o}(x) = \frac{A(x) - B(x)}{2},$$

$$h_{o}(x) = A(x),$$

$$k_{o}(x) = B(x),$$
(3.11)

where  $A: H \rightarrow R$  and  $B: H \rightarrow R$  are additive functions.

*Proof.* Substituting in (3.9) first (0, x), then (x, 0) in place of (x, y), and by  $h_o(0) = 0$  and  $k_o(0) = 0$  by the oddness of the functions, we obtain

$$f_{o}(x) - g_{o}(x) = k_{o}(x),$$
  

$$f_{o}(x) + g_{o}(x) = h_{o}(x).$$
(3.12)

Adding and then subtracting the above equations, we get

$$2f_o(x) = h_o(x) + k_o(x),$$
  

$$2g_o(x) = h_o(x) - k_o(x).$$
(3.13)

By (3.1),  $h_o(x) = A(x)$ , hence from the above equations,

$$2f_o(x) = A(x) + k_o(x), (3.14)$$

$$2g_o(x) = A(x) - k_o(x).$$
(3.15)

Consider now  $x, y \in H$  with  $x \perp y$ . Writing (3.14) with x + y instead of x and (3.15) with x - y instead of x, we get

$$2f_o(x+y) = A(x+y) + k_o(x+y),$$
  

$$2g_o(x-y) = A(x-y) - k_o(x-y).$$
(3.16)

Adding the above equations, from (3.9), the additivity of A and  $h_o(x) = A(x)$ , we obtain

$$k_0(x+y) - k_0(x-y) = 2k_0(y)$$
(3.17)

for  $x \perp y$ . By the symmetry of the orthogonality relation, we get, changing x and y and from the oddness of the function,

$$k_0(x+y) + k_0(x-y) = 2k_0(x), \qquad (3.18)$$

hence  $k_0(x + y) = k_0(x) + k_0(y)$  for  $x \perp y$ . By [5, Theorem 5],  $k_0$  is an additive function; consequently, there exists an additive function  $B : H \rightarrow R$  such that  $k_0(x) = B(x)$  for all  $x \in H$ . Now (3.14) and (3.15) give  $f_o(x) = (A(x) + B(x))/2$  and  $g_o(x) = (A(x) - B(x))/2$ , so the theorem is proved.

Finally, consider equation (3.10): the characterization of its solutions is given by the following theorem.

**Theorem 3.4.** Let  $f_e, g_e, h_e, k_e : H \to R$  be real even functionals satisfying (3.10); then there exist a quadratic function  $Q : H \to R$  and a function  $\varphi : [0, \infty) \to R$  such that

$$f_{e}(x) = \frac{Q(x) + \varphi(||x||) + h_{e}(0) + k_{e}(0)}{2},$$

$$g_{e}(x) = \frac{Q(x) - \varphi(||x||) + h_{e}(0) + k_{e}(0)}{2},$$

$$h_{e}(x) = Q(x) + h_{e}(0),$$

$$k_{e}(x) = Q(x) + k_{e}(0).$$
(3.19)

Proof. From Lemma 3.1, we first notice that

$$h_e(x) = Q(x) + h_e(0). \tag{3.20}$$

Substituting now in (3.10) first (x, 0) then (0, x) instead of (x, y), we obtain, respectively

$$f_e(x) + g_e(x) = h_e(x) + k_e(0),$$
  

$$f_e(x) + g_e(x) = h_e(0) + k_e(x).$$
(3.21)

Consequently, by subtraction and from (3.20), we have

$$k_e(x) = Q(x) + k_e(0).$$
(3.22)

Substitution of (3.20) and (3.22) in (3.10) gives

$$f_e(x+y) + g_e(x-y) = Q(x) + Q(y) + h_e(0) + k_e(0).$$
(3.23)

Then, we substitute -y in place of y in (3.23) and have

$$f_e(x-y) + g_e(x+y) = Q(x) + Q(y) + h_e(0) + k_e(0)$$
(3.24)

for all  $x \perp y$ . Hence, for y = 0 in (3.24), we obtain

$$f_e(x) + g_e(x) = Q(x) + h_e(0) + k_e(0).$$
(3.25)

Abstract and Applied Analysis

Subtracting now (3.23) and (3.24), we get  $f_e(x + y) + g_e(x - y) - f_e(x - y) - g_e(x + y) = 0$ for all  $x \perp y$ . Consider  $u, v \in H$  with ||u|| = ||v||: it follows that  $(u + v)/2 \perp (u - v)/2$ , hence in the above equation we may replace x, y with (u + v)/2, (u - v)/2, respectively. We obtain  $f_e(u) + g_e(v) - f_e(v) - g_e(u) = 0$ , that is,  $f_e(u) - g_e(u) = f_e(v) - g_e(v)$  for all  $u, v \in H$ with ||u|| = ||v||. Thus the function  $f_e(t) - g_e(t)$  is constant on each sphere with center 0, and  $\varphi : [0, \infty) \rightarrow R$  is well defined by

$$\varphi(\|x\|) = f_e(x) - g_e(x). \tag{3.26}$$

Hence (3.25) and (3.26) lead to

$$f_e(x) = \frac{Q(x) + \varphi(||x||) + h_e(0) + k_e(0)}{2},$$

$$g_e(x) = \frac{Q(x) - \varphi(||x||) + h_e(0) + k_e(0)}{2},$$
(3.27)

which finishes the proof.

Finally, the general solution of (1.5) is characterized by the following theorem.

**Theorem 3.5.** Let  $f, g, h, k : H \to R$  be real functionals satisfying (1.5); then there exist additive functions,  $B : H \to R$ , a quadratic function  $Q : H \to R$ , and a function  $\varphi : [0, \infty) \to R$  such that

$$f(x) = \frac{A(x) + B(x) + Q(x) + \varphi(||x||) + h(0) + k(0)}{2},$$
  

$$g(x) = \frac{A(x) - B(x) + Q(x) - \varphi(||x||) + h(0) + k(0)}{2},$$
  

$$h(x) = A(x) + Q(x) + h(0),$$
  

$$k(x) = B(x) + Q(x) + k(0).$$
  
(3.28)

*Conversely, the above functionals satisfy* (1.5).

#### References

- F. Skof, "Local properties and approximation of operators," *Rendiconti del Seminario Matematico e Fisico di Milano*, vol. 53, pp. 113–129, 1983.
- [2] P. W. Cholewa, "Remarks on the stability of functional equations," Aequationes Mathematicae, vol. 27, no. 1-2, pp. 76–86, 1984.
- [3] St. Czerwik, "On the stability of the quadratic mapping in normed spaces," *Abhandlungen aus dem Mathematischen Seminar der Universität Hamburg*, vol. 62, pp. 59–64, 1992.
- [4] T. M. Rassias, "On the stability of the quadratic functional equation and its applications," *Universitatis Babeş-Bolyai. Studia*, vol. 43, no. 3, pp. 89–124, 1998.
- [5] J. Rätz, "On orthogonally additive mappings," Aequationes Mathematicae, vol. 28, no. 1-2, pp. 35–49, 1985.
- [6] M. S. Moslehian, "On the orthogonal stability of the Pexiderized quadratic equation," *Journal of Difference Equations and Applications*, vol. 11, no. 11, pp. 999–1004, 2005.

- [7] B. R. Ebanks, Pl. Kannappan, and P. K. Sahoo, "A common generalization of functional equations characterizing normed and quasi-inner-product spaces," *Canadian Mathematical Bulletin*, vol. 35, no. 3, pp. 321–327, 1992.
- [8] S.-M. Jung and P. K. Sahoo, "Hyers-Ulam stability of the quadratic equation of Pexider type," Journal of the Korean Mathematical Society, vol. 38, no. 3, pp. 645–656, 2001.
- [9] D. Yang, "Remarks on the stability of Drygas' equation and the Pexider-quadratic equation," *Aequationes Mathematicae*, vol. 68, no. 1-2, pp. 108–116, 2004.
- [10] M. Mirzavaziri and M. S. Moslehian, "A fixed point approach to stability of a quadratic equation," Bulletin of the Brazilian Mathematical Society, vol. 37, no. 3, pp. 361–376, 2006.
- [11] M. Fochi, "Alcune equazioni funzionali condizionate sui vettori ortogonali," Rendiconti del Seminario Matematico Università e Politecnico di Torino, vol. 44, pp. 397–406, 1986.